Reference: EXAM/JPP/BITIC/LALPUR/BBA-FOURTH/(SP/17)/2016-2017

BBA2001(3)

By the order of Examination committee, the following is the result of BBA - FOURTH Semester held in the month of APRIL 2017

Date: AUG-2017

| SESSION | N : 2016-2017 | CLASS : BBA | | BF | RANCH : | MANAGE | MENT | | | | | | SEME | STER / TRI | MESTER | : FOURT | Н | | MON | ITH OF EXAM | : APRIL 20 | 17 |
|---------------|----------------------|-------------|----------------|----------------|---------|----------------|-------|----------|---------|----------|-------|----------|---------|------------|--------|----------|-------|--------------|--------------|-------------|--------------|---------|
| ROLL NO | NAME | U | | 4001(2) | | 4003(3) | BBA | 4005(3) | BBA | 4007(3) | BBA | 4009(3) | BBA | 4011(3) | BBA | 4002(2) | BBA20 | 001(3) | TOTAL CREDIT | TOTAL | SGPA | REMARKS |
| ROLL NO | NAME | | GR. | 2003(3) PT. | GR. | 2005(3) PT. | GR. | - РТ. | GR. | - РТ. | GR. | - РТ. | GR. | - РТ. | GR. | - РТ. | GR. | Г РТ. | POINTS | CREDITS | SGPA | REWARKS |
| | | | | 18.0 | B B | 18.0 | B+ | 21.0 | A+ | 27.0 | B+ | 21.0 | A+ | 27.0 | A | 16.0 | - GR. | - | | | 1 | |
| BBA/40014/15 | SHRITI SINGH CHAUHAN | | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 148.0 | 19.0 | 7.79 | - |
| DDA (40045)45 | GUDA DDUA A GA DIWAL | U | Α | 16.0 | Α | 24.0 | B+ | 21.0 | A+ | 27.0 | A+ | 27.0 | A+ | 27.0 | А | 16.0 | - | - | 450.0 | 40.0 | 0.00 | |
| BBA/40015/15 | SHRADDHA AGARWAL | L | <u> </u> | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 158.0 | 19.0 | 8.32 | - |
| BBA/40016/15 | SHALINI KUMARI | U | Α | 16.0 | Α | 24.0 | В | 18.0 | A+ | 27.0 | A+ | 27.0 | A+ | 27.0 | Α | 16.0 | - | - | 155.0 | 19.0 | 8.16 | _ |
| BBA/40010/13 | GIALINI KOWAKI | L | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 155.0 | 19.0 | 0.10 | |
| BBA/40017/15 | SNEHA SHILPA | U | A+ | 18.0 | Α | 24.0 | B+ | 21.0 | A+ | 27.0 | B+ | 21.0 | A+ | 27.0 | A+ | 18.0 | - | - | 156.0 | 19.0 | 8.21 | _ |
| | | L | <u> </u> - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | | | | |
| BBA/40018/15 | NEHA KHUTELA | <u> U</u> | A+ | 18.0 | B+ | 21.0 | A+ | 27.0 | A+ | 27.0 | A | 24.0 | A+ | 27.0 | A | 16.0 | - | - | 160.0 | 19.0 | 8.42 | - |
| | <u> </u> | | - A+ | 18.0 | - A | 24.0 | A | 24.0 | - A+ | 27.0 | A | 24.0 | - A+ | 27.0 | - A | 16.0 | - | - | | | 1 | |
| BBA/40019/15 | SHALINI SRINGAR | | AT | 10.0 | _ A | 24.0 | _ A | 24.0 | A+ - | 27.0 | _ A | 24.0 | A+ - | 27.0 | A | 16.0 | _ | - | 160.0 | 19.0 | 8.42 | - |
| | | | - | 18.0 | A+ | 27.0 | A+ | 27.0 | A+ | 27.0 | A | 24.0 | A+ | 27.0 | A | 16.0 | | | | | 1 | |
| BBA/40020/15 | RICHA BHAKAT | | A ⁺ | 16.0 | | 27.0 | AT | - | AT | 27.0 | | 24.0 | AT | - | | 10.0 | | - | 166.0 | 19.0 | 8.74 | - |
| | | | | 16.0 | B+ | 21.0 | A | 24.0 | A+ | 27.0 | A+ | 27.0 | A+ | 27.0 | A | 16.0 | | _ | | | <u> </u> | |
| BBA/40021/15 | NITU KUMARI | | - | - | - | - | - | - | - | - | - | - | - | - | - | - | _ | - | 158.0 | 19.0 | 8.32 | - |
| | <u> </u> | U | A | 16.0 | B+ | 21.0 | B+ | 21.0 | А | 24.0 | B+ | 21.0 | A | 24.0 | Α | 16.0 | - | - | | | | |
| BBA/40022/15 | SHALINI SUMAN BARA | L | i - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 143.0 | 19.0 | 7.53 | - |
| BBA/40023/15 | ISHA ADITI | U | Α | 16.0 | Α | 24.0 | Α | 24.0 | A+ | 27.0 | Α | 24.0 | Α | 24.0 | A+ | 18.0 | - | - | 157.0 | 10.0 | 9.26 | |
| BBA/40023/15 | IODA ADITI | L | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | U. 101 | 19.0 | 8.26 | - |
| BBA/40024/15 | URVASHI VATSA | U | A+ | 18.0 | A+ | 27.0 | A+ | 27.0 | A+ | 27.0 | A+ | 27.0 | A+ | 27.0 | А | 16.0 | - | - | 169.0 | 19.0 | 8.89 | _ |
| BBA 40024 13 | ORVAGII VATGA | L | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 100.0 | 10.0 | 0.00 | _ |
| BBA/40025/15 | ANCHAL SETHI | U | A | 16.0 | B+ | 21.0 | Ex | 30.0 | Α | 24.0 | Α | 24.0 | A | 24.0 | Α | 16.0 | - | - | 155.0 | 19.0 | 8.16 | _ |
| | | L | - | - | - | - | - | - | - | - | - | - | | - | - | - | - | - | | | | |

 BBA4001(2)
 : QUALITATIVE DATA ANALYSIS
 BBA2003(3)

 BBA4003(3)
 : MANAGEMENT AND CONTROL OF COST
 BBA2005(3)

 BBA4005(3)
 : FUNDAMENTALS OF OPERATIONS RESEARCH

 BBA4007(3)
 : INTRODUCTION TO MATERIALS MANAGEMENT AND PRODUCTION MANAGEMENT

 BBA4009(3)
 : SALES AND DISTRIBUTION MANAGEMENT

 BBA4011(3)
 : BUSINESS ETHICS

 BBA4002(2)
 : DATA ANALYSIS FOR DECISION MAKING LAB.

ORGANIZATIONAL BEHAVIOUR

QUANTITATIVE TECH. IN MGT. BASICS OF FINANCIAL MGT

Controller of Examinations

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA)

Reference: EXAM / JPP / BITIC / LALPUR / BBA-FOURTH / (SP/17) 2016-2017

BBA4002(2)

BBA2001(3)

By the order of Examination committee, the following is the result of BBA - FOURTH Semester held in the month of APRIL 2017 Date : AUG-2017

SESSION: 2016-2017 CLASS : BBA BRANCH : MANAGEMENT SEMESTER / TRIMESTER : FOURTH MONTH OF EXAM APRIL 2017 BBA4007(3) BBA4011(3) BBA4001(2) BBA4003(3) BBA4005(3) BBA4009(3) BBA4002(2) BBA2001(3) TOTAL CREDIT TOTAL **ROLL NO** NAME SGPA REMARKS BBA2003(3) BBA2005(3) POINTS **CREDITS** GR. PT. 18.0 24.0 27.0 A+ 27.0 24.0 27.0 Α+ Α 16.0 Α Α+ Α A+ PRIYANKA KUMARI BBA/40026/15 163.0 19.0 8.58 18.0 27.0 27.0 27.0 18.0 υ∥ A+ Α 24.0 Α 24.0 A+ Α+ A+ A+ BBA/40027/15 VANSHIKA SHUKLA 165.0 19.0 8.68 L | U || A+ 18.0 Α 24.0 Α 24.0 A+ 27.0 Α 24.0 A+ 27.0 Α+ 18.0 NEETI SRIVASTAVA BBA/40028/15 162.0 19.0 8.53 24.0 15.0 27.0 27.0 18.0 B+ 14.0 С Α+ 24.0 A+ υl Α Α A+ BBA/40029/15 SANGEETA SARDAR 149.0 19.0 7.84 1 υ∥ B+ 14.0 B+ 21.0 С 15.0 Α 24.0 21.0 Α 24.0 Α 16.0 BBA/40030/15 JUHI KUMARI 135.0 19.0 7.11 U 27.0 27.0 A+ 18.0 Α 24.0 Α 24.0 A+ B+ 21.0 A+ Α 16.0 BBA/40031/15 SIMRAN KAUR 157.0 19.0 8.26 υ∥ D 8.0 D 12.0 D 12.0 D 12.0 D 12.0 D 12.0 A+ 18.0 BBA/40032/15 ADITI KRISHNA 86.0 19.0 4.53 l i l Α+ 18.0 Α 24.0 21.0 Α+ 27.0 Α 24.0 Α 24.0 Α 16.0 BBA/40033/15 TANVI NAGPAL 154.0 19.0 14.0 24.0 24.0 27.0 A+ 27.0 16.0 U B+ Α Α A+ B+ 21.0 Α -BBA/40034/15 RUCHIKA SINGH 153.0 19.0 8.05 B+ 27.0 16.0 υl Α 16.0 21.0 В 18.0 A+ 27.0 Α 24.0 A+ Α PRAGYA TOPPO BBA/40035/15 149.0 19.0 7.84 L |υ| Α 16.0 B+ 21.0 B+ 21.0 24.0 Α 24.0 Α 24.0 Α 16.0 BBA/40036/15 ARANCHIKA KUMARI 146.0 19.0 7.68 24.0 27.0 16.0 18.0 21.0 24.0 27.0 υl A+ B+ A+ A+ Α Α Α ANUPRITA SARKAR BBA/40037/15 157.0 19.0 8.26 L

DATA ANALYSIS FOR DECISION MAKING LAB.

ORGANIZATIONAL BEHAVIOUR

QUANTITATIVE TECH. IN MGT. BASICS OF FINANCIAL MGT

Controller of Examinations

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

Reference: EXAM / JPP / BITIC / LALPUR / BBA-FOURTH / (SP/17) 2016-2017

BBA2001(3)

By the order of Examination committee, the following is the result of BBA - FOURTH Semester held in the month of APRIL 2017

Date: AUG-2017

| SESSION | : 2016-2017 | CLASS : BBA | | BF | RANCH : | MANAGE | MENT | | | | | | SEME | STER / TRI | MESTER | : FOURT | Н | | MO | NTH OF EXAM | APRIL 20 | 17 |
|--------------|----------------------|-------------|----------------|---------|---------|---------|---------|---------|---------|---------|-----|---------|---------|------------|---------|---------|----------|--------|---------------------|------------------|----------|---------|
| | | U | BBA | 4001(2) | BBA | 4003(3) | BBA | 4005(3) | BBA | 4007(3) | BBA | 4009(3) | BBA | 4011(3) | BBA4 | 1002(2) | BBA2 | 001(3) | | | | |
| ROLL NO | NAME | L | BBA | 2003(3) | BBA | 2005(3) | | - | | - | | - | | - | | - | | - | TOTAL CREDIT POINTS | TOTAL CREDITS | SGPA | REMARKS |
| | | | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | | | | |
| BBA/40038/15 | GARIMA CHURIWALA | U | B+ | 14.0 | Α | 24.0 | Α | 24.0 | A+ | 27.0 | Α | 24.0 | A+ | 27.0 | Α | 16.0 | - | - | 156.0 | 19.0 | 8.21 | = |
| | | L | - | - 40.0 | - | - | - | - | - | - | - | - | - | - | - | - | - | - | | 1 | | |
| BBA/40039/15 | AMANPREET KAUR | U | A+ | 18.0 | A | 24.0 | Α | 24.0 | A+ | 27.0 | A+ | 27.0 | A+ | 27.0 | A+ | 18.0 | <u> </u> | - | 165.0 | 19.0 | 8.68 | - |
| | | U | A | 16.0 | A | 24.0 | B+ | 21.0 | A+ | 27.0 | A+ | 27.0 | A+ | 27.0 | A+ | 18.0 | <u> </u> | - | | 1 | | |
| BBA/40040/15 | DIPTY SHARMA | | - | - | - | - | | 21.0 | - | - | - | - | | - | - | - | | | 160.0 | 19.0 | 8.42 | - |
| | | U | B+ | 14.0 | B+ | 21.0 | A | 24.0 | A+ | 27.0 | B+ | 21.0 | A+ | 27.0 | A | 16.0 | - | - | | 1 | | |
| BBA/40041/15 | SAMIKSHA XALXO | L | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 150.0 | 19.0 | 7.89 | - |
| BBA/40042/15 | ARPAN KUMARI | U | Α | 16.0 | В | 18.0 | С | 15.0 | A+ | 27.0 | Α | 24.0 | A+ | 27.0 | Α | 16.0 | - | - 1 | 143.0 | 19.0 | 7.53 | _ |
| BBA/40042/15 | ARFAN KUMAN | L | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 143.0 | 19.0 | 7.55 | - |
| BBA/40043/15 | TIWARI PRAGATI PRIYA | U | Α | 16.0 | С | 15.0 | С | 15.0 | A+ | 27.0 | Α | 24.0 | A+ | 27.0 | A+ | 18.0 | - | - | 142.0 | 19.0 | 7.47 | _ |
| 22,01001010 | | L | - | - | - | - | - | - | | - | - | - | - | - | | - | - | - | 112.0 | 10.0 | 7 | |
| BBA/40044/15 | KAVITA MODI | U | A | 16.0 | В | 18.0 | В | 18.0 | A+ | 27.0 | B+ | 21.0 | A+ | 27.0 | A+ | 18.0 | - | - | 145.0 | 19.0 | 7.63 | - |
| | | L | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | | | | |
| BBA/40045/15 | RICHA KUMARI | U | A+ | 18.0 | Α | 24.0 | D | 12.0 | A+ | 27.0 | Α | 24.0 | A+ | 27.0 | A+ | 18.0 | - | - | 150.0 | 19.0 | 7.89 | - |
| | | L | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | | | | |
| BBA/40047/15 | HONEY AGARWAL | U | A+ | 18.0 | B+ | 21.0 | B+ | 21.0 | A+ | 27.0 | A | 24.0 | A+ | 27.0 | A | 16.0 | - | - | 154.0 | 19.0 | 8.11 | - |
| | | <u>L</u> | - | - 16.0 | - D: | - 24.0 | - D: | - 24.0 | - | - 27.0 | - | - 24.0 | - | - 27.0 | - | - 10.0 | - | - | | | | |
| BBA/40048/15 | DIVYANI SRIVASTAVA | <u> U</u> | A | 16.0 | B+ | 21.0 | B+ - | 21.0 | A+ - | 27.0 | _ A | 24.0 | A+ - | 27.0 | A+ - | 18.0 | <u> </u> | - | 154.0 | 19.0 | 8.11 | - |
| | | U | A | 16.0 | B+ | 21.0 | С | 15.0 | A+ | 27.0 | Α | 24.0 | A+ | 27.0 | A+ | 18.0 | - | - | | | | |
| BBA/40049/15 | SIDDIQUA RAHMAN | L | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - 1 | 148.0 | 19.0 | 7.79 | - |
| BBA/40050/15 | VAISHALI DAS | U | А | 16.0 | В | 18.0 | В | 18.0 | A+ | 27.0 | Α | 24.0 | A+ | 27.0 | А | 16.0 | - | - | 146.0 | 19.0 | 7.68 | |
| DDA/40000/15 | VAISHALI DAS | L | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 140.0 | 19.0 | 7.00 | = |

BBA4001(2) BBA4003(3) BBA4005(3) BBA4007(3) BBA4009(3) BBA4001(3) BBA4002(2) BBA2003(3) BBA2005(3) QUALITATIVE DATA ANALYSIS MANAGEMENT AND CONTROL OF COST
FUNDAMENTALS OF OPERATIONS RESEARCH
INTRODUCTION TO MATERIALS MANAGEMENT AND PRODUCTION MANAGEMENT
SALES AND DISTRIBUTION MANAGEMENT
BUSINESS ETHICS DATA ANALYSIS FOR DECISION MAKING LAB.

ORGANIZATIONAL BEHAVIOUR

QUANTITATIVE TECH. IN MGT. BASICS OF FINANCIAL MGT

Controller of Examinations

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time. Disclaimer

Reference: EXAM / JPP / BITIC / LALPUR / BBA-FOURTH / (SP/17) 2016-2017

BBA2001(3)

Disclaimer

By the order of Examination committee, the following is the result of BBA - FOURTH Semester held in the month of APRIL 2017

Date: AUG-2017

| SESSIOI | N : 2016-2017 | CLASS : BBA | | | BRANCH | : MANA | GEMENT | | | | | | 5 | SEMESTER | R/TRIME | STER : I | FOURTH | | | MONTH OF | EXAM : | APRIL 2017 |
|------------------|---|--|----------|------------------------|----------|--------------------|-----------|---------|-----|---------|-------|---------|-----|----------|---------|----------|--------|-----|--------------|----------|--------------|-----------------|
| ROLL NO | NAME | | | 3A4001(2) 3A2003(3) | | 4003(3) 2005(3) | BBA | 4005(3) | BBA | 4007(3) | BBA | 4009(3) | BBA | 4011(3) | BBA | 4002(2) | BBA2 | () | TOTAL CREDIT | TOTAL | SGPA | REMARKS |
| | | ' | GR. | | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | POINTS | CREDITS | | |
| BBA/40051/15 | ROSHNI KATARUKA | l | JA | 16.0 | F* | 0.0 | С | 15.0 | A+ | 27.0 | Α | 24.0 | Α | 24.0 | Α | 16.0 | - | - | 122.0 | 19.0 | 6.42 | F* IN : BBA4003 |
| BBA/40031/13 | ROSHNIKATAROKA | 1 | | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 122.0 | 19.0 | 0.42 | 1 IN. BBA4003 |
| BBA/40052/15 | NIDHI BAGLA | | J A | 16.0 | F* | 0.0 | B+ | 21.0 | В | 18.0 | Α | 24.0 | Α | 24.0 | Α | 16.0 | - | - | 119.0 | 19.0 | 6.26 | F* IN : BBA4003 |
| | | | - | - | <u> </u> | - | - | - | - | - | - | - | - | - | - | - | - | - | | | | |
| BBA/40053/15 | VIKRUTI VADIT | | J A | 16.0 | B+ | 21.0 | B+ | 21.0 | A+ | 27.0 | A+ | 27.0 | A+ | 27.0 | A+ | 18.0 | - | - | 157.0 | 19.0 | 8.26 | - |
| | | | J A | 16.0 | A | 24.0 | B+ | 21.0 | A+ | 27.0 | A | 24.0 | A+ | 27.0 | A | 16.0 | | | | | <u> </u> | |
| BBA/40054/15 | PRACHI MOHAN SRIVASTAVA | | - L | - | - | 24.0 | B. - | - | - | - | - | - | - | - | - | - | - | - | 155.0 | 19.0 | 8.16 | - |
| BBA/40055/15 | ANKITA | ı | J | 16.0 | А | 24.0 | B+ | 21.0 | A+ | 27.0 | А | 24.0 | A+ | 27.0 | Α | 16.0 | - | - | 155.0 | 19.0 | 8.16 | |
| BBA/40033/13 | ANKITA | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 155.0 | 19.0 | 0.10 | - |
| BBA/40056/15 | NIDHI PRIYA | | J A+ | 18.0 | Α | 24.0 | A+ | 27.0 | A+ | 27.0 | Α | 24.0 | A+ | 27.0 | A+ | 18.0 | - | - | 165.0 | 19.0 | 8.68 | _ |
| 227 11 100001 10 | 111211111111111111111111111111111111111 | | <u> </u> | | <u> </u> | - | | - | - | - | - | - | | | | - | - | - | | 10.0 | 0.00 | |
| BBA/40057/15 | SHIVANI | | J A+ | 18.0 | А | 24.0 | Α | 24.0 | A+ | 27.0 | Α | 24.0 | A+ | 27.0 | Α | 16.0 | - | - | 160.0 | 19.0 | 8.42 | - |
| | | | | | <u> </u> | - | - | - | - | - | - | - | - | - | - | - | - | - | | | | |
| BBA/40058/15 | NIDHI | <u> </u> | J B+ | | B+ | 21.0 | С | 15.0 | Α | 24.0 | B+ | 21.0 | A+ | 27.0 | Α | 16.0 | - | - | 153.0 | 22.0 | 6.95 | _ |
| | | | L C | 15.0 | <u> </u> | - | - | - | - | - | - | - | - | - | - | - | - | - | | | | |
| BBA/40059/15 | MONIKA KUMARI | | J A+ | 18.0 | A+ | 27.0 | B+ | 21.0 | A+ | 27.0 | A+ | 27.0 | A+ | 27.0 | A | 16.0 | - | - | 163.0 | 19.0 | 8.58 | - |
| | | | J A | 16.0 | B+ | 21.0 | C | 15.0 | | 27.0 | A | 24.0 | A+ | 27.0 | - A | 16.0 | | | | | | |
| BBA/40060/15 | SNEHA PRIYA | | L D | | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 158.0 | 22.0 | 7.18 | - |
| DDA /40064/45 | KOMAL | ı | JA | 16.0 | А | 24.0 | С | 15.0 | Α | 24.0 | Α | 24.0 | A+ | 27.0 | Α | 16.0 | - | - | 146.0 | 10.0 | 7.00 | |
| BBA/40061/15 | KOMAL | | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 146.0 | 19.0 | 7.68 | - |
| BBA/40062/15 | ALKA KUMARI | | J A+ | 18.0 | B+ | 21.0 | С | 15.0 | A+ | 27.0 | Α | 24.0 | A+ | 27.0 | Α | 16.0 | - | - | 148.0 | 19.0 | 7.79 | _ |
| 55,040002 10 | , in the second | | L - | | - | - | - | - | - | - | - | _ | - | - | - | - | - | | 170.0 | 10.0 | 1.70 | |

 QUALITATIVE DATA ANALYSIS
 MANAGEMENT AND CONTROL OF COST
 FUNDAMENTALS OF OPERATIONS RESEARCH
 INTRODUCTION TO MATERIALS MANAGEMENT AND PRODUCTION MANAGEMENT
 SALES AND DISTRIBUTION MANAGEMENT
 BUSINESS ETHICS BBA4001(2) BBA4003(3) BBA4005(3) BBA4007(3) BBA4009(3) BBA4001(3) BBA4002(2) BBA2003(3) BBA2005(3) DATA ANALYSIS FOR DECISION MAKING LAB.

ORGANIZATIONAL BEHAVIOUR

QUANTITATIVE TECH. IN MGT. BASICS OF FINANCIAL MGT

Controller of Examinations

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

Reference: EXAM / JPP / BITIC / LALPUR / BBA-FOURTH / (SP/17) 2016-2017

By the order of Examination committee, the following is the result of BBA - FOURTH Semester held in the month of APRIL 2017 Date: AUG-2017

| SESSI | ION : 2016-2017 CL | ASS : BBA | | | BRA | ANCH : | MANAG | SEMENT | | | | | | | SEM | MESTER / | /TRIMES | TER : | FOURTH | | | MONTH OF EXAM : APRIL 2017 |
|------------------|------------------------|---|---------------|--------------------|---------|--------------------|----------|---------|---------|--------|---------------|--------|---------|--------|---------|----------|---------|-------|---------------------|------------------|----------|------------------------------------|
| ROLL NO | NAME | U L | | 4001(2) 2003(3) | | 1003(3) 2005(3) | BBA4 | -005(3) | BBA4 | 007(3) | BBA4 | 009(3) | BBA | 011(3) | BBA4 | - | BBA20 | , | TOTAL CREDIT POINTS | TOTAL CREDITS | SGPA | REMARKS |
| | | | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | | | | |
| BBA/40063/15 | DIVYANKA SONALI | L | - - | 16.0 | _ A | 24.0 | <u>В</u> | 18.0 | A+ - | 27.0 | - A | 24.0 | A+ - | 27.0 | - A | 16.0 | - | - | 152.0 | 19.0 | 8.00 | - |
| DDA /40004/45 | SWATI SHARMA | U | B+ | 14.0 | В | 18.0 | С | 15.0 | F* | 0.0 | F* | 0.0 | F* | 0.0 | Α | 16.0 | - | - | 00.0 | 00.0 | 2.86 | F* IN . DDA 4007 DDA 4000 DDA 4044 |
| BBA/40004/15 | SVVATI SHARIVIA | L | F | 0.0 | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 63.0 | 22.0 | 2.80 | F* IN : BBA4007, BBA4009, BBA4011 |
| BBA/40065/15 | PRAGYA SHREE | U | A+ | 18.0 | A+ | 27.0 | Α | 24.0 | A+ | 27.0 | A+ | 27.0 | A+ | 27.0 | Α | 16.0 | - | - | 166.0 | 19.0 | 8.74 | _ |
| BBA/40003/13 | TVACTA GITTLE | L | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 100.0 | 15.0 | 0.74 | _ |
| BBA/40066/15 | SHUBHRA TRIPATHY | U | Α | 16.0 | A+ | 27.0 | В | 18.0 | A+ | 27.0 | A+ | 27.0 | A+ | 27.0 | A+ | 18.0 | - | - | 160.0 | 19.0 | 8.42 | _ |
| 227 11 100001 10 | | L | - | - | - | - | - | - | - | - | - | - | - | - | - | - | | - | .00.0 | | <u> </u> | |
| BBA/40067/15 | PRIYA RANJAN | U | A+ | 18.0 | Α | 24.0 | Α | 24.0 | A+ | 27.0 | A+ | 27.0 | A+ | 27.0 | Α | 16.0 | - | - | 163.0 | 19.0 | 8.58 | - |
| | | L | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | | | | | |
| BBA/40068/15 | PALAK ARORA | U | С | 10.0 | В | 18.0 | С | 15.0 | A+ | 27.0 | F* | 0.0 | В | 18.0 | Α | 16.0 | - | - | 104.0 | 19.0 | 5.47 | F* IN : BBA4009 |
| | | <u> L</u> | - | - | - | - | | - | - | - | - | - | - | - | - | - | - | - | | | | |
| BBA/40069/15 | SHUBHANGI SINHA | U | A | 16.0 | B+ | 21.0 | Α | 24.0 | Α | 24.0 | Α | 24.0 | A+ | 27.0 | A | 16.0 | - | - | 152.0 | 19.0 | 8.00 | <u>-</u> |
| | | L | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | | | | |
| BBA/40071/15 | RITIKA SRIVASTAVA | U | | 18.0 | Α | 24.0 | В | 18.0 | A+ | 27.0 | Α | 24.0 | A+ | 27.0 | Α | 16.0 | - | - | 154.0 | 19.0 | 8.11 | <u>-</u> |
| | | L | | - | - | - | - | - | - | - | - | - | - | - | - | - | - | | | | | |
| BBA/40072/15 | KOMAL KIRAN | U | A+ | 18.0 | Α | 24.0 | С | 15.0 | A+ | 27.0 | Α | 24.0 | A+ | 27.0 | Α | 16.0 | - | | 151.0 | 19.0 | 7.95 | - |
| | | L | - | - | - | - | - | - | - | - | - | - | - | - | - | | | - | | | | |
| BBA/40074/15 | TANYA SINGH | U | B+ | 14.0 | B+ | 21.0 | С | 15.0 | Α | 24.0 | F* | 0.0 | A | 24.0 | Α | 16.0 | | | 114.0 | 19.0 | 6.00 | - |
| | | L | <u>-</u> В | 12.0 | - B+ | 21.0 | - B+ | 21.0 | - A+ | 27.0 | A | 24.0 | | 24.0 | | 16.0 | | | | | | |
| BBA/40075/15 | TASKEEN SABA | | D | 12.0 | DT | 21.0 | БТ | 21.0 | AT | 21.0 | | 24.0 | _ A | 24.0 | A | 10.0 | - | - | 157.0 | 22.0 | 7.14 | - |
| | | L | В | 12.0 | C | 15.0 | - C | 15.0 | A | 24.0 | <u>-</u> В | 18.0 | - B+ | 21.0 | - B+ | 14.0 | | | | | | |
| BBA/40076/15 | ASTHA CHRISTIN TIGGA | <u> </u> | D | 12.0 | | 0.0 | | 15.0 | _^ | 24.0 | _ B | - | _ DT | - | DT | 14.0 | - | | 131.0 | 25.0 | 5.24 | - |
| | | | | 12.0 | Г | 0.0 | - | _ | | | | | | | | ╙╹ | | | | | | |

BBA4001(2) BBA4003(3) BBA4005(3) BBA4007(3) BBA4009(3) BBA4011(3) QUALITATIVE DATA ANALYSIS
 MANAGEMENT AND CONTROL OF COST
 FUNDAMENTALS OF OPERATIONS RESEARCH
 INTRODUCTION TO MATERIALS MANAGEMENT AND PRODUCTION MANAGEMENT
 SALES AND DISTRIBUTION MANAGEMENT
 BUSINESS ETHICS BBA2003(3) BBA2005(3)

DATA ANALYSIS FOR DECISION MAKING LAB.

BBA4002(2)

QUANTITATIVE TECH. IN MGT. BASICS OF FINANCIAL MGT

Controller of Examinations

BBA2001(3) ORGANIZATIONAL BEHAVIOUR : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time. Disclaimer

Reference: EXAM / JPP / BITIC / LALPUR / BBA-FOURTH / (SP/17) 2016-2017

By the order of Examination committee, the following is the result of BBA - FOURTH Semester held in the month of APRIL 2017

Date: AUG-2017

| SESS | SION: 2016-2017 CLASS: | BBA | | | BRA | ANCH : | MANAC | SEMENT | | | | | | | SEI | MESTER / | TRIMES | TER : | FOURTH | | | MONTH OF EXAM : APRIL 2017 |
|----------------|--------------------------------|----------|----------|--------------------|---------|--------------------|----------|--------------|---------|---------|---------|---------|---------|--------------|---------|--------------|--------------|----------|---------------------|------------------|------|-----------------------------------|
| ROLL NO | NAME | L | | 4001(2) 2003(3) | | 4003(3) 2005(3) | BBA4 | 1005(3) - | BBA4 | 1007(3) | BBA4 | 1009(3) | BBA | 1011(3) - | BBA4 | 1002(2) - | BBA2 | 001(3) | TOTAL CREDIT POINTS | TOTAL CREDITS | SGPA | REMARKS |
| | | | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | | | | |
| BBA/40077/15 | SONALI TIGGA | L | B+ - | 14.0 | B+ - | 21.0 | C - | 15.0 | _ A | 24.0 | B+ - | 21.0 | A+ - | 27.0 | A | 16.0 | - | - | 138.0 | 19.0 | 7.26 | - |
| BBA/40078/15 | SHIVANI | U | + | 14.0 | С | 15.0 | С | 15.0 | Α | 24.0 | B+ | 21.0 | Α | 24.0 | Α | 16.0 | - | - | 141.0 | 22.0 | 6.41 | - |
| | 1 | <u> </u> | D | 12.0 | - | - | - | - 40.0 | - | - | - | - | - | - | - | - 40.0 | - | | | | | |
| BBA/40079/15 | DEVYA SINHA | L | A - | 16.0 | _ A | 24.0 | B - | 18.0 | A+ - | 27.0 | _ A | 24.0 | A+ - | 27.0 | A+ - | 18.0 | - | - | 154.0 | 19.0 | 8.11 | - |
| BBA/40080/15 | JAYA EKKA | U | - | 10.0 | B+ | 21.0 | С | 15.0 | В | 18.0 | С | 15.0 | В | 18.0 | Α | 16.0 | - | - | 113.0 | 25.0 | 4.52 | - |
| | | L | F | 0.0 | F | 0.0 | - | - | | | - | | | - | - | - | | | | | | |
| BBA/40081/15 | RISHIKA RANJAN | U | B F | 12.0 0.0 | С | 15.0 15.0 | В | 18.0 | Α | 24.0 | В | 18.0 | A | 24.0 | B+ | 14.0 | - | - | 140.0 | 25.0 | 5.60 | - |
| | J | T U | + | 16.0 | B+ | 21.0 | С | 15.0 | A+ | 27.0 | B+ | 21.0 | A+ | 27.0 | | 16.0 | - | - | | | | |
| BBA/40082/15 | PRIYA SHREE | | <u> </u> | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 143.0 | 19.0 | 7.53 | - |
| BBA/40083/15 | SHIWANGI JAISWAL | U | B+ | 14.0 | В | 18.0 | С | 15.0 | Α | 24.0 | В | 18.0 | А | 24.0 | Α | 16.0 | - | - | 141.0 | 22.0 | 6.41 | - |
| | | L | D | 12.0 | - | - | - | - | - | - | - | - | - | - | - | - | - | - | | | | |
| BBA/40084/15 | SHALINI BALIHAR | U | B+ | 14.0 | B+ | 21.0 | В | 18.0 | Α | 24.0 | Α | 24.0 | A+ | 27.0 | Α | 16.0 | - | - | 144.0 | 19.0 | 7.58 | - |
| | 1 | | - F* | 0.0 | - В | 18.0 | - C | 15.0 | - B+ | 21.0 | - F* | 0.0 | - F* | 0.0 | - B+ | 14.0 | - | - | | | | |
| BBA/40085/15 | KRITIKA PRASAD | | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 68.0 | 19.0 | 3.58 | F* IN : BBA4001, BBA4009, BBA4011 |
| BBA/40086/15 | KUMARI DURGESHWARI SAHDEO | U | Α | 16.0 | B+ | 21.0 | В | 18.0 | Α | 24.0 | B+ | 21.0 | Α | 24.0 | Α | 16.0 | - | - | 140.0 | 22.0 | 6.36 | _ |
| BB/ (/40000/10 | NOW, I'V DONGED IV I'V O'VIDEO | L | F | 0.0 | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 140.0 | 22.0 | 0.00 | |
| BBA/40087/15 | SHRADHA CHHAWANIKA | U | В | 12.0 | B+ B | 21.0 18.0 | A+ | 27.0 | A | 24.0 | B+ | 21.0 | A+ | 27.0 | Α | 16.0 | - | - | 166.0 | 22.0 | 7.55 | - |
| | | ╬ | B+ | 14.0 | B+ | 21.0 | C | 15.0 | | 24.0 | В | 18.0 | A | 24.0 | - B+ | 14.0 | - | <u> </u> | | | | |
| BBA/40088/15 | SAKSHI SINGH | | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 130.0 | 19.0 | 6.84 | - |

BBA4001(2) BBA4003(3) BBA4005(3) BBA4007(3) BBA4009(3) BBA4001(3) BBA4002(2) BBA2003(3) BBA2005(3) QUALITATIVE DATA ANALYSIS MANAGEMENT AND CONTROL OF COST
FUNDAMENTALS OF OPERATIONS RESEARCH
INTRODUCTION TO MATERIALS MANAGEMENT AND PRODUCTION MANAGEMENT
SALES AND DISTRIBUTION MANAGEMENT
BUSINESS ETHICS

DATA ANALYSIS FOR DECISION MAKING LAB.

QUANTITATIVE TECH. IN MGT. BASICS OF FINANCIAL MGT

Controller of Examinations

BBA2001(3) ORGANIZATIONAL BEHAVIOUR : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time. Disclaimer

Reference: EXAM / JPP / BITIC / LALPUR / BBA-FOURTH / (SP/17) 2016-2017

BBA2001(3)

By the order of Examination committee, the following is the result of BBA - FOURTH Semester held in the month of APRIL 2017

Date: AUG-2017

| SESSIO | N : 2016-2017 | CLASS : BBA | | | BRANCH | : MANA | GEMENT | | | | | | | SEMESTER | R / TRIME | STER : | FOURTH | | | MONTH OF | EXAM : | APRIL 2017 |
|------------------|--------------------|-------------|-----------|--------------------|---------|-------------|--------|-----------|---------|---------|----------------|---------|----------------|----------|-----------|---------|--------|---------|---------------------|------------------|--------|-----------------|
| ROLL NO | NAME | U | | 4001(2) 2003(3) | | 4003(3) | BBA | 4005(3) | BBA | 4007(3) | BBA | 4009(3) | BBA | 4011(3) | BBA | 4002(2) | BBA2 | 2001(3) | TOTAL CREDIT POINTS | TOTAL CREDITS | SGPA | REMARKS |
| | | | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | POINTS | CREDITS | | |
| BBA/40089/15 | KINJAL WADERA | U | B+ | 14.0 | Α | 24.0 | С | 15.0 | A+ | 27.0 | Α | 24.0 | Α | 24.0 | Α | 16.0 | - | - | 144.0 | 19.0 | 7.58 | |
| BBA/40069/13 | KINSAL WADERA | L | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 144.0 | 19.0 | 7.56 | - |
| BBA/40090/15 | SHREYA SARAFF | U | В | 12.0 | B+ | 21.0 | С | 15.0 | A+ | 27.0 | В | 18.0 | Α | 24.0 | B+ | 14.0 | - | - | 131.0 | 22.0 | 5.95 | - |
| | | | F | 0.0 | - | - | - | - | | - | - | - | - | - | - | - | - | - | | | | |
| BBA/40091/15 | ANSHU KUMARI | <u> </u> | B+ | 14.0 | B+ | 21.0 | С | 15.0 | A+ | 27.0 | B+ | 21.0 | A | 24.0 | A | 16.0 | - | - | 138.0 | 19.0 | 7.26 | - |
| | <u> </u> | | B+ | 14.0 | - A | 24.0 | C | 15.0 | | 24.0 | B+ | 21.0 | - A+ | 27.0 | - A | 16.0 | - | - | | | | |
| BBA/40093/15 | PRAGYA BHARTI | | B+ - | 14.0 | | 24.0 | - | 15.0 | | 24.0 | BT - | - | A ⁺ | 27.0 | _ | 10.0 | | | 141.0 | 19.0 | 7.42 | - |
| | | U | В | 12.0 | В | 18.0 | В | 18.0 | B+ | 21.0 | В | 18.0 | B+ | 21.0 | В | 12.0 | С | 15.0 | | | | |
| BBA/40094/15 | SANJANA GUPTA | | F | 0.0 | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 135.0 | 25.0 | 5.40 | UNFAIR MEANS |
| BBA/40095/15 | SIMRAN GAMBHIR | U | Α | 16.0 | A+ | 27.0 | B+ | 21.0 | Α | 24.0 | В | 18.0 | A+ | 27.0 | Α | 16.0 | - | - | 149.0 | 19.0 | 7.84 | |
| BBA/40093/13 | SIVITATI GANIBITIT | L | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 149.0 | 19.0 | 7.04 | - |
| BBA/40096/15 | SHIPALI RANI | U | Α | 16.0 | Α | 24.0 | Α | 24.0 | A+ | 27.0 | Α | 24.0 | A+ | 27.0 | Α | 16.0 | - | - | 158.0 | 19.0 | 8.32 | _ |
| 227 ti 10000i 10 | J | L | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | .00.0 | .0.0 | 0.02 | |
| BBA/40097/15 | ROHINI JALAN | U | | 16.0 | Α | 24.0 | Α | 24.0 | Α | 24.0 | B+ | 21.0 | Α | 24.0 | B+ | 14.0 | - | - | 162.0 | 22.0 | 7.36 | - |
| | | L | С | 15.0 | - | - | - | - | | - | - | - | - | - | - | - | - | - | | | | |
| BBA/40098/15 | RAJNI PURTY | <u> u</u> | | 14.0 | В | 18.0 | D | 12.0 | B+ | 21.0 | A | 24.0 | B+ | 21.0 | B+ | 14.0 | - | - | 124.0 | 25.0 | 4.96 | - |
| | <u> </u> | L | F A | 0.0 16.0 | F B+ | 0.0 21.0 | | - 15.0 | - A+ | 27.0 | - A | 24.0 | - A+ | 27.0 | - F* | 0.0 | - | - | | | | |
| BBA/40099/15 | PUSHPLATA KUMARI | | - | - | | 21.0 | | - | | - | ^ | - | - | - | <u>'</u> | - 0.0 | | | 130.0 | 19.0 | 6.84 | - |
| | | | С | 10.0 | С | 15.0 | D | 12.0 | B+ | 21.0 | F* | 0.0 | A | 24.0 | В | 12.0 | - | - | | | | |
| BBA/40100/15 | RASHMI NARSARIA | | F | 0.0 | F | 0.0 | - | - | - | - | - | - | - | i - | - | - | - | - | 94.0 | 25.0 | 3.76 | F* IN : BBA4009 |
| BBA/40101/15 | PRIYA SINGH | U | B+ | 14.0 | B+ | 21.0 | С | 15.0 | A+ | 27.0 | B+ | 21.0 | A+ | 27.0 | F* | 0.0 | - | - | 125.0 | 22.0 | 5.68 | |
| DDA/40101/15 | PRITA SINGH | L | F | 0.0 | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 125.0 | 22.0 | 5.08 | - |

BBA4001(2) BBA4003(3) BBA4005(3) BBA4007(3) BBA4009(3) BBA4011(3) QUALITATIVE DATA ANALYSIS
 MANAGEMENT AND CONTROL OF COST
 FUNDAMENTALS OF OPERATIONS RESEARCH
 INTRODUCTION TO MATERIALS MANAGEMENT AND PRODUCTION MANAGEMENT
 SALES AND DISTRIBUTION MANAGEMENT
 BUSINESS ETHICS BBA2003(3) BBA2005(3) DATA ANALYSIS FOR DECISION MAKING LAB. BBA4002(2)

ORGANIZATIONAL BEHAVIOUR

QUANTITATIVE TECH. IN MGT. BASICS OF FINANCIAL MGT

Controller of Examinations

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time. Disclaimer

Reference: EXAM / JPP / BITIC / LALPUR / BBA-FOURTH / (SP/17) 2016-2017

By the order of Examination committee, the following is the result of BBA - FOURTH Semester held in the month of APRIL 2017

Date: AUG-2017

| SESSIC | ON : 2016-2017 | BA | | E | BRANCH | : MANA | GEMENT | | | | | | 5 | SEMESTER | R/TRIME | STER : | FOURTH | | | MONTH OF I | EXAM : | APRIL 2017 |
|--------------------------|---|----|-----|---------|-----------------|----------------|--------|------------|-----|-----------------------|-----|------------|-----|-----------|----------|-----------|--------|-----|--------------|------------|--------|------------------|
| ROLL NO | NAME | U | | 4001(2) | | 1003(3) | BBA | 4005(3) | BBA | 4007(3) | BBA | 4009(3) | BBA | 4011(3) | | 1002(2) | BBA2 | , , | TOTAL CREDIT | TOTAL | SGPA | REMARKS |
| THOSE THO | 10000 | | | 2003(3) | <u> </u> | 2005(3) | | - 11 DT | | - DT | | - 11 DT | OD. | - I DT | <u> </u> | - DT | CD. | | POINTS | CREDITS | | TEMP (Tato |
| | | - | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | | <u> </u> | | |
| BBA/40102/15 | NEHA RANI | Ш | A | 16.0 | В | 18.0 | С | 15.0 | A+ | 27.0 | B+ | 21.0 | A+ | 27.0 | Α | 16.0 | - | | 140.0 | 19.0 | 7.37 | - |
| | | | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | | | | |
| BBA/40103/15 | NIBHA KUMARI | U | Α | 16.0 | A | 24.0 | B+ | 21.0 | A+ | 27.0 | Α | 24.0 | A+ | 27.0 | F* | 0.0 | - | - | 151.0 | 22.0 | 6.86 | F* IN : BBA4002 |
| DDA/40103/13 | INDIA KOWAKI | L | D | 12.0 | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 101.0 | 22.0 | 0.00 | 1 114 . DDA 4002 |
| BBA/40104/15 | SHREYA JAIN | U | B+ | 14.0 | В | 18.0 | С | 15.0 | A+ | 27.0 | Α | 24.0 | Α | 24.0 | Α | 16.0 | - | - | 159.0 | 22.0 | 7.23 | |
| DDA/40104/13 | SHRETAJAIN | | - | - | B+ | 21.0 | - | - | - | - | i - | - | - | - | - | - | - | - | 159.0 | 22.0 | 1.23 | - |
| BBA/40105/15 | SHRISTI JHA | U | Α | 16.0 | В | 18.0 | D | 12.0 | A+ | 27.0 | B+ | 21.0 | Α | 24.0 | B+ | 14.0 | - | - | 132.0 | 19.0 | 6.95 | |
| BBA/40103/13 | SHRISHI SHA | L | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 132.0 | 19.0 | 0.95 | - |
| DDA /40406/45 | DDA CWA TIMA DV | U | Α | 16.0 | B+ | 21.0 | С | 15.0 | Α | 24.0 | B+ | 21.0 | Α | 24.0 | Α | 16.0 | - | - | 152.0 | 22.0 | 6.91 | |
| BBA/40106/15 | PRAGYA TIWARY | | - | - | С | 15.0 | - | - | - | - | i - | - | - | - | - | - | - | - | 152.0 | 22.0 | 0.91 | - |
| DDA (40407)45 | NIGHT WINA DI | U | Α | 16.0 | В | 18.0 | D | 12.0 | A+ | 27.0 | F* | 0.0 | A+ | 27.0 | Α | 16.0 | - | - | 440.0 | 40.0 | 0.44 | F* IN |
| BBA/40107/15 | NISHI KUMARI | | - | - | - | - | - | - | - | - | i - | - | - | - | - | - | - | - | 116.0 | 19.0 | 6.11 | F* IN : BBA4009 |
| DD 4 / 40 400 / 45 | | U | С | 10.0 | С | 15.0 | D | 12.0 | B+ | 21.0 | В | 18.0 | B+ | 21.0 | B+ | 14.0 | - | - | 444.0 | 40.0 | | |
| BBA/40108/15 | 08/15 SWATI SONI | L | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 111.0 | 19.0 | 5.84 | - |
| BBA4001(2) BBA4003(3) | : QUALITATIVE DATA ANALYSIS : MANAGEMENT AND CONTROL OF COST | | | | d I | BBA20 BBA20 | | d I | | NTITATIV CS OF FIN | | | | | d I | , | 1 | | | | J | |

BBA4001(2) BBA4003(3) BBA4005(3) BBA4007(3) BBA4009(3) BBA4011(3) QUALITATIVE DATA ANALYSIS MANAGEMENT AND CONTROL OF COST BBA2003(3) BBA2005(3) FUNDAMENTALS OF OPERATIONS RESEARCH
INTRODUCTION TO MATERIALS MANAGEMENT AND PRODUCTION MANAGEMENT
SALES AND DISTRIBUTION MANAGEMENT BUSINESS ETHICS

DATA ANALYSIS FOR DECISION MAKING LAB.
ORGANIZATIONAL BEHAVIOUR

BBA4002(2) BBA2001(3)

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

Reference: EXAM / JPP / BITIC / LALPUR / BBA-FOURTH / (SP/17) 2016-2017

BBA2001(3)

By the order of Examination committee, the following is the result of BBA - FOURTH Semester held in the month of APRIL 2017

Date: AUG-2017

| SESSION | N : 2016-2017 CLASS : | BBA | | BF | RANCH : | MANAGE | MENT | | | | | | SEME | STER / TRII | MESTER | : FOURT | Н | | MON | ITH OF EXAM | : APRIL 20 | 17 |
|------------------|--|-----|--------|---------|---------------|---------|---------|---------|---------|---------|----------------|---------|---------|-------------|---------|---------|-------|--------|------------------------|------------------|------------|---------|
| | | U | BBA | 4001(2) | BBA | 4003(3) | BBA | 4005(3) | BBA | 1007(3) | BBA | 4009(3) | BBA | 4011(3) | BBA | 4002(2) | BBA20 | 001(3) | | | | |
| ROLL NO | NAME | | BBA2 | 2003(3) | BBA | 2005(3) | | - | | - | | - | | - | | - | - | | TOTAL CREDIT POINTS | TOTAL CREDITS | SGPA | REMARKS |
| | | | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | GR. | PT. | | | | |
| BBA/40001/15 | PRAGYA | U | A+ | 18.0 | B+ | 21.0 | A+ | 27.0 | A+ | 27.0 | A+ | 27.0 | A+ | 27.0 | A | 16.0 | - | - | 163.0 | 19.0 | 8.58 | - |
| | | U | B+ | 14.0 | A | 24.0 | | 24.0 | A+ | 27.0 | В | 18.0 | A+ | 27.0 | A | 16.0 | _ | _ | | | | |
| BBA/40002/15 | MEGHA BHATT | L | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 150.0 | 19.0 | 7.89 | - |
| BBA/40003/15 | MINAL SHAH | U | A+ | 18.0 | Α | 24.0 | A+ | 27.0 | A+ | 27.0 | A+ | 27.0 | A+ | 27.0 | A+ | 18.0 | - | - | 168.0 | 19.0 | 8.84 | - |
| 227 ti 10000i 10 | Will the Grant | L | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 100.0 | 10.0 | 0.01 | |
| BBA/40004/15 | RUPALI SONI | U | Α | 16.0 | B+ | 21.0 | A | 24.0 | A+ | 27.0 | Α | 24.0 | A+ | 27.0 | Α | 16.0 | - | - | 155.0 | 19.0 | 8.16 | - |
| | | L | | - 400 | | | - | - | - | - | - | - | - | - | | - | - | - | | | | |
| BBA/40006/15 | DEEPTY PANDEY | U | A | 16.0 | _ A | 24.0 | A+ | 27.0 | A+ | 27.0 | A . | 24.0 | A+ - | 27.0 | A | 16.0 | - | - | 161.0 | 19.0 | 8.47 | - |
| | | U | | 16.0 | A | 24.0 | B+ | 21.0 | A+ | 27.0 | A+ | 27.0 | A+ | 27.0 | A | 16.0 | - | _ | | | | |
| BBA/40007/15 | PUSHPANJALI | | | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | 158.0 | 19.0 | 8.32 | - |
| | | U | Α | 16.0 | Α | 24.0 | Α | 24.0 | A+ | 27.0 | А | 24.0 | A+ | 27.0 | Α | 16.0 | - | - | | | | |
| BBA/40008/15 | AKSHITA DHINGRA | | - | - | - | - | - | - | - | - | i - | - | - | - | - | - | - | - | 158.0 | 19.0 | 8.32 | - |
| DDA /40000/45 | ASHITA MATHUR | U | B+ | 14.0 | В | 18.0 | С | 15.0 | Α | 24.0 | B+ | 21.0 | Α | 24.0 | Α | 16.0 | - | - | 132.0 | 19.0 | 6.05 | |
| BBA/40009/15 | ASHITA MATHUR | | - | - | - | - | - | - | - | - | <u> </u> | - | - | - | - | - | - | - | 132.0 | 19.0 | 6.95 | - |
| BBA/40010/15 | SUCHITA JAGRANI KERKETTA | U | Α | 16.0 | B+ | 21.0 | D | 12.0 | Α | 24.0 | А | 24.0 | Α | 24.0 | Α | 16.0 | - | - | 137.0 | 19.0 | 7.21 | _ |
| 22/11/00/07/0 | | L | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | - | | | | |
| BBA/40011/15 | SHREYA GOYAL | U | Α | 16.0 | Α | 24.0 | Α | 24.0 | A+ | 27.0 | Α | 24.0 | A+ | 27.0 | A+ | 18.0 | - | - | 160.0 | 19.0 | 8.42 | - |
| | <u> </u> | U | - ^ | 16.0 | <u>-</u> В | 18.0 | - B+ | 21.0 | - A+ | 27.0 | - A | 24.0 | - A+ | 27.0 | - B+ | 14.0 | - | - | | | | |
| BBA/40012/15 | NIVEDITA SINHA | | | - | - | - | - | - | - | - | - A | - | - AT | - | - | - 14.0 | - | - | 147.0 | 19.0 | 7.74 | - |
| | | U | B+ | 14.0 | B+ | 21.0 | С | 15.0 | B+ | 21.0 | Α | 24.0 | B+ | 21.0 | A | 16.0 | - | - | | | | |
| BBA/40013/15 | SHEETAL KASHYAP | | - | - | - | - | - | - | - | - | i - | - | - | - | - | - | - | - | 132.0 | 19.0 | 6.95 | - |

 QUALITATIVE DATA ANALYSIS
 MANAGEMENT AND CONTROL OF COST
 FUNDAMENTALS OF OPERATIONS RESEARCH
 INTRODUCTION TO MATERIALS MANAGEMENT AND PRODUCTION MANAGEMENT
 SALES AND DISTRIBUTION MANAGEMENT
 BUSINESS ETHICS BBA4001(2) BBA4003(3) BBA4005(3) BBA4007(3) BBA4009(3) BBA4011(3) BBA2003(3) BBA2005(3) DATA ANALYSIS FOR DECISION MAKING LAB. BBA4002(2)

ORGANIZATIONAL BEHAVIOUR

QUANTITATIVE TECH. IN MGT. BASICS OF FINANCIAL MGT

Controller of Examinations

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time. Disclaimer